Failure of Spar Pin Carry Through @ n <6.0




Current Activities

AIAA Design-Build-Fly since 2007

Cessna Aircraft Company
)~} Raytheon Missile Syrstems
AIAA Foundation

Human-powered airplane to compete for the
Kremer Sport HPA Prize - Zephyrus
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Background: Kremer Prize (Sport)
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Two laps; totaling 7 minutes within 1 hour
Wind: 5 m/s (11.2 mph or 9.7 kts) nominal
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Design Challenges:
Wing
Airfoils
Propeller
Pod
Structures
Flight Mechanics

HPA Wing v20 (halfspan)
Notes: for machining and building convenience (0.80 m to fit in
laser cutter in SALA, long span of constant-chord for easier construction)
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Penn State Zephyrus HPA  Span =22.5m (74 ft)
Area = 15.2 m? (164 ft?)

Empty Weight = 60 Ibs
Pilot Weight = 140 |bs
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Rotationspeed = 8.75 m/s




